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AGRICULTURE (Theory)
Time allowed : 3 hours | : [ Maximum marks : 70
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General Instructions :
(i)  All questions are compulsory.
(i)  Marks for questions are indicated against each of them.
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1. (a) Write two major classes of field crops. Give one example (crop) for each of
them. 4

(b) What do you mean by re-cycling of agricultural wastes ? Explain their use in
agricultural production. 4
(¢) Write two major characteristics of saline-alkali soil. 2
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2. Fill in the blanks :
(i)  Green revolution covered crop.
(i1) In scheduling of irrigation in crops, parameters are considered.
(iii) 70% of soybean area in India falls in the State of Pradesh.

(iv) Sowing of Kharif pearlmillet is done in the months of &

(v) The most concentrated nitrogenous fertilizer is

(vi) Botanical name of berseem is

(vit) Nitrogen loss from anaerobic soil is called
(viii) Cotton belongs to the family
(ix) Ergot is a common disease of

(x) Crop taken with the new tillers of sugarcane after harvest is called a
crop.
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Match the crops with their most critical growth stages for irrigation :
() Rice ()  Silking |

(b) Maize (i1) Flowering

(¢) Groundnut  (iii) Crown root initiation

(d) Wheat (iv) Pegging

Match the soil textural classes with their diameter ranges of the particles :

(a) Coarsesand (i) 0.02-0.002 mm
(b)  Fine sand (i)  0.002 mm and less

(c) Silt (i) 2.0-0.2mm
(d) Clay (iv) 0.2-0.02 mm
Match the crops with their varieties :

(a) Wheat @) COjg

(b) Maize (i) CSH 18

(¢) Sorghum (iii) Ganga?2
(d)  Sugarcane (iv) Sonalika

Match the crops with their scientific name :

(a) Oats (i)  Brassica spp.

(b) Maize (1) Cicer arietinum

(¢) Rapeseed- (iii) Zea mais
mustard

(d) Gram (iv) Avena sativa

Match the diseases with the crops affected :

(@ Khaira (i)  Groundnut
(b)  Ergot (i) Wheat
(c) Blackrust (i) Maize
(d) Tilkka (iv) Pearlmillet
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Write very briefly (2-3 lines) on the following :
(i) Dry farming
(ii)) Mixed intercropping
(iii) Commercial cropping
(iw) Grain processing
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Give the following informations about the cultivation of maize crop : 10
(i) Place of origin

(i) Two seasons of growing

(iii) Two types of varieties

(iv) Seed rate

(v) Plant population/ha

(vi) Spacing

(vii) Top dressing of nitrogen (two stages)
(viii) Application of zinc sulphate (kg/ha)
(ix) An important insect

(x) Chemical (name) seed treatment
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Mark true (T) and false (F) against the following statements : 10
(i) Potlayering is identical to air layering.
(i) Place of origin of Litchi is India.

(iii) Malformation is common in Mango. /
(iv) Most of the fruits are harmed if CO, concentration in the storage is more than
1%.

(v) Carrotisrich in Vitamin ‘C’.

(vi) NPy, is a variety of chilli.

(vii) Inarching is the most common method of propagation in banana.
(viii) ‘Allahabad safeda’ is a variety of guava.

(ix) Sexually propagated plants are true to type to original.

(x) 15-20% common salt is needed for permanent storage of fruits and vegetables.
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6.  Give the following informations on grapes :
(i) Botanical name
(i1)) Place of origin
(iii) Climate
(iv) Method of propagation
(v) Animproved variety
(vi) A system of training
(vii) Percentage of total produce used for rasin making.
(viii) An important producing State.
(ix) Season for pruning in North India.
(x) A plant growth regulator.
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7.  (a) Mention the objectives very briefly (2-3 lines) of the following : 2
(1) Dehydration of fruits & vegetables.

(ii) Use of Potassium — bi sulphite in fruit preservation.

(b) Give the required information about the following three crops : 3+3+2
Brinjal Onion Gladiolus
(1) Animproved variety (i) Botanical name (i) Family-name
(ii) Seed rate/ha (ii) Important growing State (ii) Propagation method
(iii) Yield / ha (iii) Yield / ha
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